4/3/2014  Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [P301 18 Volt Stapler]/[General Assembly]

- RYOBI 18 VOLT STAPLER - MODEL NUMEER P301 -,

http://ryobitools.arinet.com/scripts/EmpartISAPL.dII?MF &app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acfof03&cat=3&TF=epcFrame&assem=339&s... 1/3



4/3/2014  Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [P301 18 Volt Stapler]/[General Assembly]

Ref#
1

O 0 9 N L Bk~ LN

[\ T NG T NS T NG I NS T NS e e S e T e T e T e T e T e T
LN A W N = © OV 0 3 & i A W N — O

26
27
28
29
30
31
32
33
34
35
36

http://ryobitools.arinet.com/scripts/EmpartISAPLdII?MF &app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acfof03&cat=3&TF=epcFrame&assem=339&s. ..

Part #
019006001045
019006001003
019006001004
019006001005
019006001006
019006001007
019006001008
019006001009
019006001010
019006001011
019006001012
019006001013
019006001014
019006001015
019006001016
019006001017
019006001018
019006001019
019006001020
019006001021
019006001022
019006001023
019006001024
019006001025
019006001026

019006001027 Upper Cover - Force Adjustment Knob
019006001028 Lower Cover - Force Adjustment Knob

019006001029
019006001030
019006001031
019006001032
019006001033
019006001034
019006001046
019006001047
019006001048

Description

Housing Assembly

Damper

Slide Guide Assembly

Puncher

Hammer Block Assembly
Screw (M5 X 6 mm)
Safety Foot Assembly

Spring - Safety Foot

Magazine
Wheel
Staple Pusher

Spring - Staple Pusher

Latch

Screw (M3 X 14 mm)

Spring

Motor With Gear Box Assembly
Fixture Assembly - Switch 1

Trigger
Spring - Trigger

Slide Assembly - Switch 2
Spring - Slide Assembly
Upper Cover - Switch 2
Lower Cover - Switch 2

Switch Assembly

Force Adjustment Knob

Spring

Spacer

Screw (M4.2 X 23 mm)

Screw (M4.2 X 17 mm)

Screw (M4.2 X 12 mm)
Screw (M4 X 10 mm)

Screw (M2)
Circle Ring
Spring

Qty Context Note Foot Note

(Purchase locally)

1
1
1
1
1
3
1
1
1
1
1
1
1
2 (Purchase locally)
1
1
1
1
1
2
1
2
2
1
1

1
1
1
1
2 (Purchase locally)
9 (Purchase locally)
1 (Purchase locally)
2 (Purchase locally)

1 (Purchase locally)
1
1

2/3



4/3/2014  Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [P301 18 Volt Stapler]/[General Assembly]

37
38
39
40
41
42

http://ryobitools.arinet.com/scripts/EmpartISAPLdII?MF &app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acfof03&cat=3&TF=epcFrame&assem=339&s. ..

019006001049
019006001041
019006001042
019006001043
019006001035
019006001036
983000955
983000955R

Screw
Logo Label
Data Label
Warning Label
Staple (Stick, T50 5/16 m.
Staple (Stick, T50 9/16 .
Operator's Manual (019006001044)
Repair Sheet

1

S T W W G —

Not Shown)
Not Shown)

3/3



